
STANDARD DROP-IN ANCHOR
RED HEAD MULTI-SET ANCHORS
DROP-IN ANCHOR

Part number Description Pack

CEX04        1/4-20             100 Part number Description Pack

CEX06        3/8-16             50 SZB-RM14     1/4                 100

CEX08        1/2-13             50 SZB-RM38     3/8                 50

CEX10        5/8-11             25 SZB-RM12     1/2                 50

CEX12        3/4-10             25 SZB-RM58     5/8                 25

SZB-RM34     3/4                 25

STANDARD DROP-IN ANCHOR
STAINLESS STEEL RED HEAD MULTI-SET ANCHORS

DROP-IN ANCHORS, STAINLESS STEEL
Part number Description Pack

CEY04        1/4-20              100 Part number Description Pack

CEY06        3/8-16              50 BJVSRM14     1/4-20/3/8 DRILL      100

CEY08        1/2-13              50 BJVSRM38     3/8-16/1/2 DRILL      50

CEY10        5/8-11              25 BJVSRM12     1/2-13/5/8 DRILL      50

CEY12        3/4-10              25 BJVSRM58     5/8-11/7/8 DRILL      25

BJVSRM34     3/4-10/1 DRILL 25

RED HEAD NON-DRILLING ANCHOR

Part number Description Pack

TAB-J14      1/4                 100

TAB-J34      3/4                 25 RED HEAD NON DRILLING 
TAB-J58      5/8                 25

(cont.)

Part number Description Pack

RED HEAD MULTI-SET ANCHOR TCB-JD14     1/4                    1

DRIVING TOOL ONLY TCB-JD34     3/4                    1

TCB-JD38     3/8                    1

Part number Description Pack TCB-JD58     5/8                    1

TBB-RT14     1/4                    1

TBB-RT38     3/8                    1

TBB-RT12     1/2                    1 SHORT LAG SCREW ANCHOR SHIELD

TBB-RT58     5/8                    1

TBB-RT34     3/4                    1

Part number Description Pack

TDB-LS140    1/4 X 1                    50

RED HEAD NON DRILLING TDB-LS160    5/16 X 1 1/4               50

TDBLS380     3/8 X 1 3/4                50

TDB-LS120    1/2 X 2                    25

Part number Description Pack TDB-LS580    5/8 X 2                    25

TCB-JD12     1/2                    1 TDB-LS340    3/4 X 2                    10

MACHINE BOLT SHIELD



SINGLE EXPANSION

LONG LAG SCREW ANCHOR SHIELD
Part number Description Pack

TKB04        1/4                 SING EXP M/BOLT SHIELD 50

TKB05        5/16                SING EXP M/BOLT SHIELD 50 Part number Description Pack

TKB06        3/8                 SING EXP M/BOLT SHIELD 50 TEB-LS146    1/4 X 1 1/2                50

TKB08        1/2                 SING EXP M/BOLT SHIELD 25 TEB-LS166    5/16 X 1 3/4               50

TKB10        5/8                 SING EXP M/BOLT SHIELD 25 TEB-LS386    3/8 X 2 1/2                50

TKB12        3/4                 SING EXP M/BOLT SHIELD 10 TEB-LS126    1/2 X 3                    25

TEB-LS586    5/8 X 3 1/2                25

TEB-LS346    3/4 X 3 1/2                10

CHEMICAL CONCRETE ANCHOR STUD

CAPSULES

MACHINE BOLT SHIELD
Part number Description Pack DOUBLE EXPANSION
BEY06        3/8                 10

BEY08        1/2                 10 Part number Description Pack

BEY10        5/8                 10 TFB04        1/4                 100

BEY12        3/4                 5 TFB05        5/16                50

BEY14        7/8                 5 TFB06        3/8                 50

BEY16        1                 5 TFB08        1/2                 25

TFB10        5/8                 25

TFB12        3/4                 10

WITH NUTS & WASHERS

PLASTIC CONICAL SCREW ANCHORS
Part number Description Pack

BSG06G2      3/8-16 X 5-GRADE 2   10

BSG06304SS   3/8-16 X 5-304 STAINLESS STEEL   1 Part number Description Pack

BSG08G2      1/2-13 X6 1/4-GRADE 2      10 TLB6824      6-8 X 3/4             100

BSG08304     1/2-13 X 6 1/4 -304 STAINLESS STEEL   1 TLBLKK326    6-12 X 1 (UNIVERSAL)          100

BSG10G2      5/8-11X 7 1/2-GRADE 2      10 TLB81028     8-10 X 7/8          100

BSG10304     5/8-11X 7 1/2-304 STAINLESS STEEL    1 TLB101232    10-12 X 1 (RED)             100

BSG12G2      3/4-10X 9 1/2-GRADE 2      10 TLB141648    14-16 X 1 1/2               100

BSG12304     3/4-10X 9 1/2-304 STAINLESS STEEL    1

BSG14G2      7/8-9X 10 1/4-GRADE 2      1

BSG14304     7/8-9X10 1/4-304 STAINLESS STEEL     1 ALLIGATOR SOLID WALL ANCHOR
BSG16G2      1-8 X 11 3/4-GRADE 2   1 TOGGLER
BSG16304     1-8 X 11 3/4-304 STAINLESS STEEL 1

Part number Description Pack

BPN13101     #12 - #14 SCREW (1/4 DRILL) 100

BPN13102     #14 - 5/16 (5/16 DRILL) 100

BPN13103     #8 - #10 SCREW (3/16 DRILL) 200

LEAD WOOD SCREW ANCHORS POLY PRO RIBBED/WING ANCHOR
ANCHORS & KITS



(cont.)

Part number Description Pack Part number Description Pack

TMB161848    16-18 X 1 1/2       50 CCMPS0608SP  #6-8 X 1 1/4               100

CCMPS1012SP  #10-12 X 1 7/16            100

CCM12141648  12-14-16X1 1/2 (GREEN) 100

PLASTIC PLUG SCREW ANCHORS CCM46828     4-6-8 X 7/8 (YELLOW)  100

CCM8101240   8-10-12 X 1 1/4 (BLUE) 100

CCM8101240Y  8-10-12 X 1 1/4 (YELLOW) 100

Part number Description Pack CCM468CJAR   6X3/4 COMBO PAN(100PC. JAR KIT) 1

TNB11070     1-2-3 X 1-YELLOW    100 CCM10125BOX  10X 1 1/4 COMBO PAN (100PC. JAR KIT) 1

TNB11071     4-5-6 X 3/4-WHITE   100 CCM81012CJAR 10 X 1COMBO PAN(100PC. JAR KIT) 1

TNB11072     4-5-6 X 1-WHITE     100 CCM121416CJAR 14X1 1/4COMBO PAN (50PC. JAR KIT) 1

TNB11073     4-5-6 X 1 1/2-WHITE 100

TNB11074     7-8-9 X 3/4-RED     100

TNB11075     7-8-9 X 1-RED       100 LEAD WOOD SCREW ANCHORS
TNB11076     7-8-9 X 1 1/2-RED   100

TNB11077     10-11-12 X 1-GREEN  100

TNB11078     10-11-12 X 1 1/4-GREEN 100 Part number Description Pack

TNB11079     10-11-12 X 1 1/2-GREEN 100 TMB6824      6-8 X 3/4           100

TNB11080     10-11-12 X 2-GREEN  100 TMB6832      6-8 X 1             100

TNB11081     13-14-15 X 1-BLUE   100 TMB6848      6-8 X 1 1/2         100

TNB11082     13-14-15 X1 1/2-BLUE 100 TMB101424    10-14 X 3/4         100

TNB11083     13-14-15 X 2-BLUE   100 TMB101432    10-14 X 1           100

TNB11084     16-17-18 X1 1/2-ORANGE 100 TMB101448    10-14 X 1 1/2       100

TNB11085     16-17-18 X 2-ORANGE   100 TMB161832X   16-18 X 1           100

TNB11086     16-17-18 X2 1/2-ORANGE 100 TOGGLER BRAND HOLLOW WALL ANCHORS

TNB11088     20-24 X 2 -GREY       100

TNB11089     20-24 X 2 1/2 -GREY   100 (cont.)

Part number Description Pack

BPP11010     3/8-1/2  WALL THK   100

POLY-TOGGLER WALL ANCHORS BPP11011     5/8-3/4  WALL THK   100

BPP11012     3/8-1/2 PICTURE HOOK 100

BPP11022     3/8-1/2 PEG BRD ANCHOR 50

Part number Description Pack BPP11023     3/8-1/2 SHELF ANCHOR 50

TNB2303      3/8 SHORT           100

TNB2304      1/2 MEDIUM          100

TNB2305      5/8 LONG            100 TOGGLER SNAP SC SELF DRILL WALL ANCHOR

APY100       2 1/2 (W/ WASHER HEAD - EZ) 50

Part number Description Pack

TOGGLER BRAND HOLLOW WALL ANCHORS CHH30012     W 8X1 1/2 COMBO SC  50

CHH30032     #6X1 1/4 MINI SPM   50

Part number Description Pack

BPP11009     1/8-1/4 WALL THK    100 NYLON ONE-STEP WALLBOARD ANCHOR

PLASTER ANCHOR KITS

Part number Description Pack



Part number Description Pack ALF100S      #6 X 1 1/4          100

TPB68CDBOX   6/8X7/8 W/COMBO SCREW  1 ALF100       #8-10 X 1 1/2       100

TPB6AF       6-8 X 3/4 W/SC/DR.  1

TPB6AFHXBOX  6-8 X 3/4 HX/WHD    1

TPB6-12UAF   6-12 X 1 UNIVERSAL  1 NYLON ONE-STEP WALLBOARD

TPB8AF       8-10 X 7/8 W/SC/DR  1 ANCHOR KITS

TPB8AFHXBOX  8-10 X 7/8 HX/WHD   1

TPB810CDBOX  8-10X7/8 PAN/COMBOBX 1 Part number Description Pack

TPB10AFHX    #10 X 1SL/HX SC JAR    1 APKKIT       ANC/10 X 1SC 50 SETS 1

TPB10AF      10-12X1 W/SC/DRL JAR 1 APKKITEZ     25 EZ MTL ANC W/SCRS 1

TPB10AFBOX   10-12 X 1 W/SC/DR   1 APKKITMINI   W/6 X 1 COMBO SMS 1

TPB10AFCB    10-12 X 1 W/COMBO SC 1 APKKITSML    EZ ANC/10X1SC/25SET 1

TPB10AFHXBOX 10-12 X 1 W/HX SC   1 APK6125NS    6X1 1/4 CMBPAN/SMNYL 1

TPB10AFSQJ   10-12 X 1 W/SQ DRVSC 1 APK8125N     8X1 1/4 COMBOPAN/NYL 1

TPB10SLPNBOX 10-12 X 1 SLT PAN   1 APK8125Z     8X1 1/4 COMBOPAN/ZNC 1

TPB1012CDBOX 10-12X1 PAN/COMBO BX 1

TPB12AFHX    #12 X1SL HX SC JAR     1

TPB14AF      14-16 X 1 3/8 W/SC D    1 ZINC EZ ONE-STEP WALLBOARD ANCHORS
TPB14AFHX    14-16 X 1 1/2 W/SC  1

TPB14SLPNBOX 14-16 X 1 1/2 SLTPN 1

TPB1416CDBOX 14/16X1 1/2 W/COMBO 1 Part number Description Pack

ALFEZ100     6-8-10 X 1 1/2      100

LIGHT ROSETT WALL BOARD ANCHORS
HEAVY DUTY ROSETT ANCHORS
WALL AND MASONRY ANCHORS

Part number Description Pack (cont.)

BJX04ERL     RED 1/4 #6/#8 SC    100 Part number Description Pack

BJX05EBL     BLUE 5/16 #10/#12 SC 50 BJYERRSP     RED/SPACER 3/4-1 1/4 25

HEAVY DUTY ROSETT ANCHORS RED HEAD STEEL WEDGE ANCHOR

WALL AND MASONRY ANCHORS

Part number Description Pack Part number Description Pack

BJYERBHK     BLUE/HOOK 3/8/3/4    25 TRB-WS1416   1/4 X 1 3/4                100

BJYERBPH     BLUE/SCR 3/8/3/4     25 TRB-WS1422   1/4 X 2 1/4                100

BJYERBSE     BLUE/EYE 3/8/3/4     25 TRB-WS1432   1/4 X 3 1/4                100

BJYERBSH     BLUE/L HOOK 3/8/3/4  25 TRB-WS3822   3/8 X 2 1/4                50

BJYERBSP     BLUE/SPACER 3/8/3/4  25 TRB-WS3826   3/8 X 2 3/4                50

BJYERRHK     RED/HOOK 3/4-1 1/4   25 TRB-WS3830   3/8 X 3                    50

BJYERRPH     RED/SCR 3/4-1 1/4    25 TRB-WS3836   3/8 X 3 3/4                50

BJYERRSE     RED/EYE 3/4-1 1/4    25 TRB-WS3850   3/8 X 5                    50

BJYERRSH     RED/L HOOK 3/4-1 1/4 25 TRB-WS1226   1/2 X 2 3/4                25

RED HEAD STAINLESS STEEL WEDGE ANCHOR TRB-WS1236   1/2 X 3 3/4                25

TRB-WS1242   1/2 X 4 1/4                25

TRB-WS1254   1/2 X 5 1/2                25

Part number Description Pack TRB-WS1270   1/2 X 7                    25



TSB-WW1416   1/4 X 1 3/4             100 TRB-WS5834   5/8 X 3 1/2                10

TSB-WW1422   1/4 X 2 1/4             100 TRB-WS5842   5/8 X 4 1/4                10

TSB-WW1432   1/4 X 3 1/4             100 TRB-WS5850   5/8 X 5                    10

TSB-WW3822   3/8 X 2 1/4             50 TRB-WS5860   5/8 X 6                    10

TSB-WW3826   3/8 X 2 3/4             50 TRB-WS5870   5/8 X 7                    10

TSB-WW3830   3/8 X 3                 50 TRB-WS5884   5/8 X 8 1/2                10

TSB-WW3836   3/8 X 3 3/4             50 TRB-WS3442   3/4 X 4 1/4                10

TSB-WW3850   3/8 X 5                 50 TRB-WS3446   3/4 X 4 3/4                10

TSB-WW1226   1/2 X 2 3/4             25 TRB-WS3454   3/4 X 5 1/2                10

TSB-WW1236   1/2 X 3 3/4             25 TRB-WS3462   3/4 X 6 1/4                10

TSB-WW1242   1/2 X 4 1/4             25 TRB-WS3470   3/4 X 7                    10

TSB-WW1254   1/2 X 5 1/2             25 TRB-WS3484   3/4 X 8 1/2                10

TSB-WW1270   1/2 X 7                 25 TRB-WS34100  3/4 X 10                   10

TSB-WW5834   5/8 X 3 1/2             10 TRB-WS34120  3/4 X 12                   10

TSB-WW5842   5/8 X 4 1/4             10 TRB-WS7860   7/8 X 6                    5

TSB-WW5850   5/8 X 5                 10 TRB-WS7880   7/8 X 8                    5

TSB-WW5860   5/8 X 6                 10 TRB-WS78100  7/8 X 10                   5

TSB-WW5870   5/8 X 7                 10 TRB-WS10060  1 X 6                     5

TSBWW5884    5/8 X 8 1/2             10 TRB-WS10090  1 X 9                     5

TSBWW3442    3/4 X 4 1/4             10 TRB-WS100120 1 X 12                    5

TSB-WW3446   3/4 X 4 3/4             10 TRB-WS12590  1 1/4 X 9                  5

TSB-WW3454   3/4 X 5 1/2             10 TRB-WS125120 1 1/4 X 12                 5

TSBWW3462    3/4 X 6 1/4             10

TSB-WW3470   3/4 X 7                 10 RED HEAD GALVANIZED WEDGE ANCHOR
TSB-WW3484   3/4 X 8 1/2             10

TSB-WW34100  3/4 X 10                10 (cont.)

TSBWW10090   1 X 9                   5 Part number Description Pack

AUWWS5884G   5/8 X 8 1/2         25

AUWWS58120G  5/8 X 12            20

RED HEAD GALVANIZED WEDGE ANCHOR AUWWS3446G   3/4 X 4 3/4         10

AUWWS3454G   3/4 X 5 1/2         10

AUWWS3484G   3/4 X 8 1/2         10

Part number Description Pack AUWWS34100G  3/4 X 10            10

AUWWS3826G   3/8 X 2 3/4         100 AUWWS7860G   7/8 X 6             5

AUWWS3830G   3/8 X 3             100 AUWWS78120G  7/8 X 12            5

AUWWS1226G   1/2 X 2 3/4         25 AUWWS10090G  1 X 9             5

AUWWS1236G   1/2 X 3 3/4         50 AUWWS12590G  1 1/4 X 9           5

AUWWS1242G   1/2 X 4 1/4         25

AUWWS1254G   1/2 X 5 1/2         25

AUWWS1270G   1/2 X 7            25 RED HEAD 316 STAINLESS STEEL WEDGE ANCHOR
AUWWS5834G   5/8 X 3 1/2         10

AUWWS5860G   5/8 X 6            10

AUWWS5870G   5/8 X 7             25 Part number Description Pack

RED HEAD STUD ANCHOR AUXSWW1416   1/4 X 1 3/4        100

AUXSWW1422   1/4 X 2 1/4        100

(cont.) AUXSWW1432   1/4 X 3 1/4        100

Part number Description Pack AUXSWW3822   3/8 X 2 1/4        50

TTB-JS38C    3/8 X 2 1/4                  50 AUXSWW3826   3/8 X 2 3/4        50



TTB-JS38H    3/8 X 3                      50 AUXSWW3830   3/8 X 3            50

TTB-JS38M    3/8 X 3 3/4                  50 AUXSWW3836   3/8 X 3 3/4        50

TTB-JS12C    1/2 X 2 3/4                  25 AUXSWW3850   3/8 X 5            50

TTB-JS12H    1/2 X 4 1/4                  25 AUXSWW1226   1/2 X 2 3/4        25

TTB-JS12M    1/2 X 5 1/4                  25 AUXSWW1236   1/2 X 3 3/4        25

TTB-JS58H    5/8 X 5                      10 AUXSWW1242   1/2 X 4 1/4        25

TTB-JS34C    3/4 X 4 1/4                  10 AUXSWW1254   1/2 X 5 1/2        25

TTB-JS34H    3/4 X 6 1/4                  10 AUXSWW5842   5/8 X 4 1/4        10

TTB-JS34M    3/4 X 8 1/2                  10 AUXSWW5850   5/8 X 5            10

AUXSWW5870   5/8 X 7            10

AUXSWW5884   5/8 X 8 1/2        10

STANDARD STEEL WEDGE ANCHOR AUXSWW3446   3/4 X 4 3/4        10

ASTM#164-55-RS AUXSWW3454   3/4 X 5 1/2        10

Part number Description Pack

BMD04056     1/4 X 1 3/4         100 RED HEAD STUD ANCHOR
BMD04072     1/4 X 2 1/4         100

BMD04096     1/4 X 3             100

BMD04104     1/4 X 3 1/4         100 Part number Description Pack

BMD05068     5/16 X 2 1/8        100 TTB-JS14C    1/4 X 1 3/4                  100

BMD06072     3/8 X 2 1/4         100 TTB-JS14H    1/4 X 2 1/4                  100

BMD06088     3/8 X 2 3/4         100 TTB-JS14M    1/4 X 3 1/4                  100

BMD06096     3/8 X 3           100 STANDARD STEEL WEDGE ANCHOR
BMD06112     3/8 X 3 1/2         100 ASTM#164-55-RS
BMD06120     3/8 X 3 3/4         100 (cont.)

BMD06120HDG  3/8 X 3 3/4 (HOT DIP GALVANIZED)     100 Part number Description Pack

BMD06160     3/8 X 5             50 BMD08384     1/2 X 12 25

BMD06160HDG  3/8 X 5 (HOT DIP GALVANIZED)         50 BMD10112     5/8 X 3 1/2         25

BMD06208     3/8 X 6 1/2         50 BMD10112HDG  5/8 X 3 1/2 (HOT DIP GALVANIZED)     25

BMD08088     1/2 X 2 3/4         50 BMD10144     5/8 X 4 1/2         25

BMD08120     1/2 X 3 3/4         50 BMD10160     5/8 X 5           25

BMD08120HDG  1/2 X 3 3/4 (HOT DIP GALVANIZED)     50 BMD10192     5/8 X 6            25

BMD08136     1/2 X 4 1/4         25 BMD10192HDG  5/8 X 6 (HOT DIP GALVANIZED)         25

BMD08136HDG  1/2 X 4 1/4 (HOT DIP GALVANIZED)     25 BMD10224     5/8 X 7            25

BMD08176     1/2 X 5 1/2         25 BMD10224HDG  5/8 X 7 (HOT DIP GALVANIZED)         25

BMD08176HDG  1/2 X 5 1/2 (HOT DIP GALVANIZED)     25 BMD10272     5/8 X 8 1/2        25

BMD08224     1/2 X 7            25 BMD10272HDG  5/8 X 8 1/2 (HOT DIP GALVANIZED)     25

BMD08224HDG  1/2 X 7 (HOT DIP GALVANIZED)         25 BMD10320     5/8 X 10            20

BMD08272     1/2 X 8 1/2         25 BMD10320HDG  5/8 X 10 (HOT DIP GALVANIZED)        20

BMD08272HDG  1/2 X 8 1/2 (HOT DIP GALVANIZED)     25 BMD10384     5/8 X 12          20

BMD08320     1/2 X 10           25 BMD12136     3/4 X 4 1/4         20

BMD08320HDG  1/2-13 X 10 (HOT DIP GALVANIZED)     25 BMD12152     3/4 X 4 3/4        20

STANDARD WEDGE ANCHOR BMD12176     3/4 X 5 1/2       20

304 STAINLESS STEEL BMD12200     3/4 X 6 1/4         10

(cont.) BMD12224     3/4 X 7            10

Part number Description Pack BMD12272     3/4 X 8 1/2        10

BTF06072     3/8 X 2 1/4         100 BMD12272HDG  3/4 X 8 1/2 (HOT DIP GALVANIZED)     10

BTF06088     3/8 X 2 3/4         100 BMD12320     3/4 X 10           10



BTF06096     3/8 X 3           100 BMD12384     3/4 X 12            10

BTF06112     3/8 X 3 1/2         100 BMD14192     7/8 X 6             5

BTF06120     3/8 X 3 3/4         100 BMD14256     7/8 X 8            5

BTF06160     3/8 X 5           50 BMD14320     7/8 X 10            5

BTF06208     3/8 X 6 1/2         50 BMD14320HDG  7/8 X 10 (HOT DIP GALVANIZED)        5

BTF08088     1/2 X 2 3/4         50 BMD14384     7/8 X 12           5

BTF08120     1/2 X 3 3/4         50 BMD16192     1 X 6               5

BTF08136     1/2 X 4 1/4         25 BMD16288     1 X 9               5

BTF08176     1/2 X 5 1/2         25 BMD16384     1 X 12           5

BTF08224     1/2 X 7            25 BMD20288     1 1/4 X 9           5

BTF08272     1/2 X 8 1/2         25 BMD20384     1 1/4 X 12        5

BTF08320     1/2 X 10           25

BTF08384     1/2 X 12           25

BTF10112     5/8 X 3 1/2         25 STANDARD WEDGE ANCHOR
BTF10144     5/8 X 4 1/2         25 304 STAINLESS STEEL

BTF10160     5/8 X 5           25

BTF10192     5/8 X 6           25 Part number Description Pack

BTF10224     5/8 X 7           25 BTF04056     1/4 X 1 3/4         100

BTF10272     5/8 X 8 1/2         25 BTF04072     1/4 X 2 1/4         100

BTF10320     5/8 X 10           20 BTF04096     1/4 X 3            100

BTF10384     5/8 X 12          20 BTF04104     1/4 X 3 1/4         100

BTF12136     3/4 X 4 1/4         20 RED HEAD - ACORN NUT SLEEVE ANCHOR
BTF12152     3/4 X 4 3/4         20

BTF12176     3/4 X 5 1/2         20

BTF12200     3/4 X 6 1/4         20 Part number Description Pack

BTF12224     3/4 X 7           10 TUB-AN1405   1/4 X 5/8              100

BTF12272     3/4 X 8 1/2         10 TUB-AN1413   1/4 X 1 3/8            100

BTF12320     3/4 X 10          10 TUB-AN1422   1/4 X 2 1/4            100

BTF12384     3/4 X 12          10

BTF14192     7/8 X 6            5

BTF14256     7/8 X 8           5 RED HEAD - FLAT HEAD SLEEVE ANCHOR
BTF14320     7/8 X 10           5

BTF14384     7/8 X 12          5

BTF16192     1 X 6            5 Part number Description Pack

BTF16288     1 X 9            5 TUB-FS1411   1/4 X 1 1/2        100

BTF16384     1 X 12            5 TUB-FS1420   1/4 X 2 1/4        100

BTF20288     1 1/4 X 9         5 TUB-FS1430   1/4 X 3 1/8        100

BTF20384     1 1/4 X 12         5 TUB-FS1440   1/4 X 4            100

TUB-FS1452   1/4 X 5 1/4        100

TUB-FS3826   3/8 X 2 7/8        50

TUB-FS3840   3/8 X 4            50

RED HEAD - ROUND HEAD SLEEVE ANCHOR TUB-FS3850   3/8 X 5            50

TUB-FS3860   3/8 X 6            50

Part number Description Pack

TUB-RS1411   1/4 X 1 3/8           100 RED HEAD - HEX NUT SLEEVE ANCHOR
TUB-RS1420   1/4 X 2               100

TUB-RS1426   1/4 X 2 7/8           100



TUB-RS3824   3/8 X 2 5/8           50 Part number Description Pack

TUB-HN1405 1/4 X 5/8 100

TUB-HN1413   1/4 X 1 3/8              100

STANDARD ACORN NUT SLEEVE ANCHOR TUB-HN1420   1/4 X 2 1/4              100

ZINC PLATED TUB-HN1614   5/16 X 1 1/2             100

TUB-HN1624   5/16 X 2 1/2             100

Part number Description Pack TUB-HN3817   3/8 X 1 7/8              50

BTG04020     1/4 X 5/8           100 TUB-HN3830   3/8 X 3                  50

BTG04044     1/4 X 1 3/8         100 TUB-HN1222   1/2 X 2 1/4              25

BTG04072     1/4 X 2 1/4         100 TUB-HN1230   1/2 X 3                  25

TUB-HN1240   1/2 X 4                  25

TUB-HN5822   5/8 X 2 1/4              25

STANDARD FLAT HEAD SLEEVE ANCHOR TUB-HN5830   5/8 X 3                  25

ZINC PLATED TUB-HN5842   5/8 X 4 1/4              10

TUB-HN5860   5/8 X 6                  10

Part number Description Pack TUB-HN3424   3/4 X 2 1/2              10

BTH04044     1/4 X 1 3/8         100 TUB-HN3440   3/4 X 4                  5

BTH04064     1/4 X 2            100 TUB-HN3462   3/4 X 6 1/4              5

BTH04096     1/4 X 3            100

BTH04128     1/4 X 4            100

BTH06088     3/8 X 2 3/4         50 STANDARD HEX NUT SLEEVE ANCHOR

BTH06128     3/8 X 4            50

BTH06160     3/8 X 5            50 (cont.)

BTH06192     3/8 X 6            50 Part number Description Pack

BTJ08192     1/2 X 6            25

BTJ10072     5/8 X 2 1/4         25

STANDARD HEX NUT SLEEVE ANCHOR BTJ10096     5/8 X 3            25

BTJ10136     5/8 X 4 1/4         10

BTJ10192     5/8 X 6            10

Part number Description Pack BTJ12080     3/4 X 2 1/2         10

BTJ04044     1/4 X 1 3/8         100 BTJ12128     3/4 X 4             10

BTJ05048     5/16 X 1 1/2        100 BTJ12136     3/4 X 4 1/4         5

BTJ05080     5/16 X 2 1/2        100 BTJ12176     3/4 X 5 1/2         5

BTJ06060     3/8 X 1 7/8         50 BTJ12200     3/4 X 6 1/4         10

BTJ06096     3/8 X 3            50 BTJ12256     3/4 X 8            5

BTJ06128     3/8 X 4            50

BTJ08072     1/2 X 2 1/4         25

BTJ08088     1/2 X 2 3/4         25 STANDARD ROUND HEAD SLEEVE ANCHOR 
BTJ08096     1/2 X 3             25 ZINC PLATED
BTJ08128     1/2 X 4            25

HAMMER DRIVE ANCHOR Part number Description Pack

STEEL PIN BTK04040     1/4 X 1 1/4         100

BTK04064     1/4 X 2            100

Part number Description Pack BTK04088     1/4 X 2 3/4         100

ART03028     3/16 X 7/8              100 BTK05076     5/16 X 2 3/8        100

ART04024     1/4 X 3/4               100 BTK05108     5/16 X 3 3/8        100

ART04032     1/4 X 1                 100 BTK06080     3/8 X 2 1/2         50

ART04040     1/4 X 1 1/4             100 BTK06120     3/8 X 3 3/4         50



ART04048     1/4 X 1 1/2             100

ART04064     1/4 X 2                 100

EXPANSION CAULKING ANCHOR

HAMMER DRIVE ANCHOR

STAINLESS STEEL PIN Part number Description Pack

TVB-LD102    10/24              100

Part number Description Pack TVB-LD120    1/2-13             25

ARV03028     3/16 X 7/8            100 TVB-LD122    12/24              100

ARV04032     1/4 X 1               100 TVB-LD140    1/4-20             100

ARV04040     1/4 X 1 1/4           100 TVB-LD156    5/16-18            50

ARV04048     1/4 X 1 1/2           100 TVB-LD320    3/8-16             50

ARV04064     1/4 X 2               100 TVB-LD340    3/4-10             25

TVB-LD580    5/8-11             25

TVB-LD632    6/32               100

CAULKING ANCHOR SETTING TOOL TVB-LD78X    7/8-9              10

TVB-LD832    8/32               100

Part number Description Pack

TWB-CT632    #6                             1 RAWL DRIVE ROUND HEAD- 1PC. DRIVE ANCHOR

TWB-CT832    #8                             1

TWB-CT102    #10                            1

TWB-CT122    #12                            1 Part number Description Pack

TWB-CT140    1/4                            1 UCB03032     3/16 X 1                  100

TWB-CT516    5/16                           1 UCB04048     1/4 X 1 1/2               100

TWB-CT380    3/8                            1 UCB04080     1/4 X 2 1/2               100

TWB-CT120    1/2                            1 UCB06064     3/8 X 2                   25

TWB-CT580    5/8                            1 UCB06080     3/8 X 2 1/2               25

TWB-CT340    3/4                            1 UCB08088     1/2 X 2 3/4               25

UCB08096     1/4 X 3                   25

MASONRY PIN GRIP DRIVE RIVET
RAWL DRIVES COUNTERSUNK

1 PIECE DRIVE ANCHOR

Part number Description Pack

TXB03024     3/16 X 3/4          100 Part number Description Pack

TXB04032     1/4 X 1             100 UEB03048     3/16 X 1 1/2              100

TXB04040     1/4 X 1 1/4         100 UEB03064     3/16 X 2                  100

TXB04048     1/4 X 1 1/2         100 UEB03080     3/16 X 2 1/2              100

1/4 HEADED DRIVE PIN UEB04048     1/4 X 1 1/2               100

UEB04064     1/4 X 2                   100

(cont.) UEB04080     1/4 X 2 1/2               100

Part number Description Pack UEB04096     1/4 X 3                   100

ANY04024     1/4 X 3/4           100 UEB04112     1/4 X 3 1/2               100

ANY04032     1/4 X 1             100 UEB04128     1/4 X 4                   100

ANY04040     1/4 X 1 1/4         100 UEB06080     3/8 X 2 1/2               25

ANY04048     1/4 X 1 1/2         100

ANY04064     1/4 X 2             100



SELF DRILL ANCHOR

SNAP OFF TYPE

1/4 HEADED PIN TOOL Part number Description Pack

SXB-S14      1/4                   100

SXB-S16      5/16                  100

Part number Description Pack SXB-S38      3/8                   50

ANZ01        SETTING TOOL           1 SXB-S12      1/2                   50

SXB-S52      5/8                   25

SXB-S34      3/4                   25

WEJ-IT STEEL CONCRETE ANCHORS SXB-S78X     7/8                   25

Part number Description Pack 1/4 HEADED DRIVE PIN
JRR1413      1/4 X 1 3/4            100

JRR1423      1/4 X 2 3/4            100

JRR1430      1/4 X 3                100 Part number Description Pack

JRR5620      5/16 X 2               100 ANY04016     1/4 X 1/2           100

JRR5630      5/16 X 3               100 WEJ-IT STEEL CONCRETE ANCHORS

JRR3812      3/8 X 1 1/2            100

JRR3820      3/8 X 2                100 (cont.)

JRR3823      3/8 X 2 3/4            100 Part number Description Pack

JRR3832      3/8 X 3 1/2            50 JRR3470      3/4 X 7                10

JRR3850      3/8 X 5                50 JRR3482      3/4 X 8 1/2            10

JRR3860      3/8 X 6                50 JRR3410      3/4 X 10               10

JRR1223      1/2 X 2 3/4            50 JRR7880      7/8 X 8                10

JRR1232      1/2 X 3 1/2            50 JRR7810      7/8 X 10               10

JRR1250      1/2 X 5                25 JRR7812      7/8 X 12               5

JRR1260      1/2 X 6                25 JRR1080      1 X 8                10

JRR1270      1/2 X 7                25 JRR1010      1 X 10                5

JRR5832      5/8 X 3 1/2            25 JRR1012      1 X 12               5

JRR5842      5/8 X 4 1/2            25

JRR5850      5/8 X 5                20

JRR5860      5/8 X 6                15 TAPCON MASONRY SLTD HEX WASHER HD SC
JRR5870      5/8 X 7                15 WITH DRILL
JRR3440      3/4 X 4                18

JRR3450      3/4 X 5                12 Part number Description Pack

JRR3460      3/4 X 6                12 AMDLE300     3/16 X 1 1/4 (LT300DR) 100

TAPCON MASONRY PHILLIPS FLAT SCREW AMDLE310     3/16 X 1 3/4 (LT300DR) 100

WITH DRILL AMDLE320     3/16 X 2 1/4 (LT310DR) 100

(cont.) AMDLE330     3/16 X 2 3/4 (LT310DR) 100

Part number Description Pack AMDLE340     3/16 X 3 1/4 (LT320DR) 100

AMELF335     3/16 X 2 3/4 (LT310DR) 100 AMDLE350     3/16 X 3 3/4 (LT320DR) 100

AMELF345     3/16 X 3 1/4 (LT320DR) 100 AMDLE360     3/16 X 4 (LT320 DRILL) 100

AMELF355     3/16 X 3 3/4 (LT320DR) 100 AMDLE405     1/4 X 1 1/4 (LT405DR) 100

AMELF365     3/16 X 4 (LT320 DRILL) 100 AMDLE415     1/4 X 1 3/4 (LT405DR) 100

AMELF400     1/4 X 1 1/4 (LT405DR) 100 AMDLE425     1/4 X 2 1/4 (LT415DR) 100

AMELF410     1/4 X 1 3/4 (LT405DR) 100 AMDLE435     1/4 X 2 3/4 (LT415DR) 100



AMELF420     1/4 X 2 1/4 (LT415DR) 100 AMDLE445     1/4 X 3 1/4 (LT425DR) 100

AMELF430     1/4 X 2 3/4 (LT415DR) 100 AMDLE455     1/4 X 3 3/4 (LT425DR) 100

AMELF440     1/4 X 3 1/4 (LT425DR) 100 AMDLE465     1/4 X 4 (LT425 DRILL) 100

AMELF450     1/4 X 3 3/4 (LT425DR) 100 AMDLE475     1/4 X 5             100

AMELF460     1/4 X 4 (LT425 DRILL) 100 AMDLE485     1/4 X 6             100

AMELF470     1/4 X 5 (LT435 DRILL) 100 AMDLH475     5/16X2-1/4 (LH475)    50

AMELF480     1/4 X 6 (LT445 DRILL) 100 AMDLH485     5/16 X 3 (LH485)     50

AMELH910     5/16 X 3           50 AMDLH495     5/16 X 4  (LH495)    50

AMELH920     5/16 X 4           50

AMELH930     5/16 X 5           50

AMELH940     5/16 X 6           50 TAPCON MASONRY PHILLIPS FLAT SCREW
WITH DRILL

TAPCON CONDRIVE INSTALLATION TOOL KIT Part number Description Pack

AND INSTALLATION KITS AMELF305     3/16 X 1 1/4 (LT300DR) 100

AMELF315     3/16 X 1 3/4 (LT300DR) 100

Part number Description Pack AMELF325     3/16 X 2 1/4 (LT310DR) 100

AMFLP100     1000 2 STEP ALL SIZE    1 TAPCON MASONRY INSTALLATION DRILLS

AMFLP250     ECONO 2 STEP 4MAX      1

AMFLX300     ELECTRICIANS KIT        1 (cont.)

AMFLX310     GEN CONTRACTORS KIT     1 Part number Description Pack

AMFL516      5/16 DIA DRIVE TOOL     1 AMGLT445     3/16 X 7 1/2          1

AMGLT630     3/16 X 5SDS SHANK    1

AMGLT650     3/16 X 7SDS SHANK    1

TAPCON MASONRY INSTALLATION DRILLS AMGLT460     1/4 X 4 1/2 TANGED    1

AMGLT465     1/4 X 5 1/2  TANGED   1

AMGLT475     1/4 X 7 1/2 TANGED    1

Part number Description Pack AMGLT680     1/4 X 7 SDS SHANK   1

AMGLT300     5/32 X 3 1/2          1 AMGLT690     1/4 X 9 1/2 SDS SHANK  1

AMGLT310     5/32 X 4 1/2          1

AMGLT320     5/32 X 5 1/2          1

AMGLT535     5/32 X 5 SDS SHANK   1 TAPCON 1000 SERIES INSTALLATION TOOL PARTS
AMGLT555     5/32 X 7 SDS SHANK   1

AMGLT405     3/16 X 3 1/2          1 Part number Description Pack

AMGLT415     3/16 X 4 1/2          1 AMHLY100     DRILL ADAPTER         1

AMGLT425     3/16 X 5 1/2          1 AMHLY110     DRV SLEEVE ASSEMBLY    1

AMGLT435     3/16 X 6 1/2          1 AMHLY160     PHILLIPS SOCKET       1

HEX MASONRY HARD SCREW ANCHORS AMHLY170     5-6 DRIVE ASSEMBLY     1

NO DRILL - GLOBAL AMHLY130     1/4 SOCKET FOR 3/16 DIAMETER  1

(cont.) AMHLY120     5/16 SOCKET FOR 1/4 DIAMETER 1

Part number Description Pack

CGP04072SHW  1/4 X 2 1/4 S/HXW       100

CGP04088SHW  1/4 X 2 3/4 S/HXW       100 TAPCON 2000 SERIES INSTALLATION TOOL PARTS
CGP04104SHW  1/4 X 3 1/4 S/HXW       100

CGP04120SHW  1/4 X 3 3/4 S/HXW       100 Part number Description Pack

CGP04128SHW  1/4 X 4 S/HXW           100 AMJLY180     TL BDY & DRV ASSMBLY  1

CGP04160SHW  1/4 X 5 S/HXW           100 AMJLY190     1/4 SOCKET FOR 3/16 DIAMETER  1

CGP04192SHW  1/4 X 6 S/HXW         100 AMJLY200     5/16 SOCKET FOR 1/4 DIAMETER  1



PHIL FLAT HEAD  ANCHORS HEX MASONRY HARD SCREW ANCHORS

NO DRILL-GLOBAL NO DRILL - GLOBAL

Part number Description Pack Part number Description Pack

CGP03040FT   3/16 X 1 1/4 PH/FLAT 100 CGPLP100     2-STEP ECON DRV TOOL        1

CGP03056FT   3/16 X 1 3/4 PH/FLAT 100 CGP03040SHW  3/16 X 1 1/4 S/HXW      100

CGP03072FT   3/16 X 2 1/4 PH/FLAT 100 CGP03056SHW  3/16 X 1 3/4 S/HXW      100

CGP03088FT   3/16 X 2 3/4 PH/FLAT 100 CGP03072SHW  3/16 X 2 1/4 S/HXW      100

CGP03104FT   3/16 X 3 1/4 PH/FLAT 100 CGP03088SHW  3/16 X 2 3/4 S/HXW      100

CGP03120FT   3/16 X 3 3/4 PH/FLAT 100 CGP03104SHW  3/16 X 3 1/4 S/HXW      100

CGP03128FT   3/16 X 4 PH/FLAT 100 CGP03120SHW  3/16 X 3 3/4 S/HXW      100

CGP04040FT   1/4 X 1 1/4 PH/FLAT 100 CGP03128SHW  3/16 X 4 S/HXW          100

CGP04056FT   1/4 X 1 3/4 PH/FLAT 100 CGP04040SHW  1/4 X 1 1/4 S/HXW       100

CGP04072FT   1/4 X 2 1/4 PH/FLAT 100 CGP04056SHW  1/4 X 1 3/4 S/HXW       100

CGP04088FT   1/4 X 2 3/4 PH/FLAT 100 TOGGLE BOLTS WITH SPRING WING NUTS

CGP04104FT   1/4 X 3 1/4 PH/FLAT 100 W/ ROUND HEADS OR FLAT HEADS

CGP04120FT   1/4 X 3 3/4 PH/FLAT 100

CGP04128FT   1/4 X 4 PH/FLAT 100 Part number Description Pack

CGP04160FT   1/4 X 5 PH/FLAT 100 UAB66064     1/8 X 2             50

CGP04192FT   1/4 X 6 PH/FLAT 100 UAB66064FH   1/8 X 2  FLAT HEAD   50

UAB66096     1/8 X 3             50

UAB66096FH   1/8 X 3 FLAT HEAD    50

HANGERMATE THREADED ROD UAB66128     1/8 X 4             50

ANCHORING SYSTEM UAB66128FH   1/8 X 4  FLAT HEAD   50

UAB03064     3/16 X 2            50

Part number Description Pack UAB03064FH   3/16 X 2 FLAT HEAD   50

BHTZE100     1/4-20 DRL TO 1/4 STL 50 UAB03096     3/16 X 3            50

BHTZE140     1/4-20 MAS/WOOD ANCH 50 UAB03128     3/16 X 4            50

BHTZE120     3/8-16 DRL TO 1/4STL 50 UAB03128FH   3/16 X 4 FLAT HEAD   50

BHTZE160     3/8-16 MAS/WOOD ANCH 50 UAB03160     3/16 X 5            50

UAB03160FH   3/16 X 5 FLAT HEAD   50

UAB03192     3/16 X 6            50

UAB03192FHX  3/16 X 6            50

UAB04064     1/4 X 2             50

MUSHROOM HEAD TOGGLE BOLTS UAB04096     1/4 X 3             50

WITH SPRING WIRE NUT UAB04096FH   1/4 X 3  FLAT HEAD   50

UAB04128     1/4 X 4             50

Part number Description Pack UAB04128FH   1/4 X 4 FLAT HEAD    50

UAC66064     1/8 X 2                  50 UAB04160     1/4 X 5             50

UAC66096     1/8 X 3                  50 UAB04160FH   1/4 X 5 FLAT HEAD    50

UAC66096C    1/8 X 3                 100 UAB04192     1/4 X 6             50

UAC66128     1/8 X 4                  50 UAB04192FH   1/4 X 6 FLAT HEAD    50

UAC03064     3/16 X 2                 50 UAB05096     5/16 X 3            25

UAC03096     3/16 X 3                 50 UAB05096FH   5/16 X 3 FLAT HEAD   25

UAC03128     3/16 X 4                 50 UAB05128     5/16 X 4            25

UAC03160     3/16 X 5                 50 UAB05128FH   5/16 X 4 FLAT HEAD   25



UAC03192     3/16 X 6                 50 UAB05160     5/16 X 5            25

UAC04096     1/4 X 3                  50 UAB05160FH   5/16 X 5 FLAT HEAD   25

UAC04128     1/4 X 4                  50 UAB05192     5/16 X 6            25

UAC04192     1/4 X 6                  50 UAB05192FHX  5/16 X 6 FLAT HEAD   25

UAB06096     3/8 X 3             25

UAB06096FH   3/8-16 X 3 FLAT HEAD 25

SPRING TOGGLE WING NUTS UAB06128     3/8 X 4             25

UAB06128FH   3/8-16 X 4 FLAT HEAD 25

UAB06160     3/8 X 5             25

Part number Description Pack UAB06160FH   3/8-16 X 5 FLAT HEAD 25

DJD02        6/32                50 UAB06192     3/8 X 6             25

DJD02C       6/32                100 UAB06192FHX  3/8 X 6             25

DJD88        8/32                50 UAB08128     1/2 X 4             25

DJD03        10/24               50 UAB08160     1/2 X 5             25

DJD03C       10/24               100 UAB08192     1/2 X 6             25

DJD04        1/4-20              50 HOLLOW WALL MOLLY ANCHOR
DJD04C       1/4-20              100

DJD05        5/16-18             50

DJD06        3/8-16              25 Part number Description Pack

DJD06C       3/8-16              100 UBB-WA18XS   1/8 - X SHORT         100

DJD06Q50     3/8-16              50 UBB-WA18S    1/8 - REGULAR SHORT       100

DJD08        1/2-13              25 UBB-WA18L    1/8 - REGULAR LONG        100

UBB-WA18XL   1/8 - X LONG          100

UBB-WA36S    3/16 - REGULAR SHORT      50

HOLLOW WALL DRIVE TYPE MOLLY ANCHOR UBB-WA36L    3/16 - REGULAR LONG       50

UBB-WA36XL   3/16 - X LONG         50

UBB-WA14S    1/4 - REGULAR SHORT       50

Part number Description Pack UBB-WA14L    1/4 - REGULAR LONG        50

UBB-WD18DL   1/8 - REGULAR LONG         100 UBB-WA14XL   1/4 - X LONG          50

UBB-WD18DS   1/8 - REGULAR SHORT        100

UBB-WD18DXS  1/8 EXTRA SHORT        100

SANKO HOLLOW WALL ANCHOR

Part number Description Pack

STANDARD KAP TOGGLES LESS SCREW AYD2045      1/4 X 1 3/4           25

AYD2064      1/4 X 2 1/2           25

(cont.) AYD2083      1/4 X 3 1/4           25

Part number Description Pack AYD2564      5/16 X 2 1/2          25

CGW03        3/16                50 AYD2583      5/16 X 3 1/4          25

CGW04        1/4                 50 AYD2595      5/16 X 3 3/4          25

AYD3083      3/8 X 3 1/4           25

AYD3095      3/8 X 3 3/4           25

22 CALIBER POWER LOADS AYD3115      3/8 X 4 1/2           25

Part number Description Pack EASY TOGGLER HOLLOW WALL ANCHOR

UFB22A       GRAY                     100 TOGGLER BRAND



UFB22B       BROWN                    100

UFB22G       GREEN                    100 Part number Description Pack

UFB22Y       YELLOW                   100 BJW03BA      10/24 3/8 TO 2 1/2 100

BJW04BB      1/4-20 3/8 TO 2 1/2,00100 100

BJW04BBL     1/4-20 2TO9 1/2 WALL 50

27 CALIBER POWER LOADS BJW06BC      3/8-16 3/8 TO 2 1/2,00025 25

BJW08BD      1/2-13 3/8 TO 2 1/2,00025 25

Part number Description Pack

UFB27G       GREEN                    100 STANDARD KAP TOGGLES LESS SCREW

UFB27R       RED                      100

UFB27Y       YELLOW                   100

Part number Description Pack

CGW02        1/8                 100

1/4 POWER PINS DROP FORGED EYE TO EYE TURNBUCKLES

GALVANIZED

Part number Description Pack Part number Description Pack

UGB04016     1/4 X 1/2           100 ULB16384     1 X 12                 1

UGB04024     1/4 X 3/4           100 ULB04128     1/4 X 4                1

UGB04024W    1/4 X 3/4 (WITH WASHER)  100 ULB05144     5/16 X 4 1/2           1

UGB04032     1/4 X 1             100 ULB06192     3/8 X 6                1

UGB04032W    1/4 X 1 (WITH WASHER)    100 ULB08192     1/2 X 6                1

UGB04040     1/4 X 1 1/4         100 ULB08288     1/2 X 9                1

UGB04040W    1/4 X 1 1/4 (WITH WASHER) 100 ULB08384     1/2 X 12               1

UGB04048     1/4 X 1 1/2         100 ULB10192     5/8 X 6                1

UGB04048W    1/4 X 1 1/2 (WITH WASHER) 100 ULB10288     5/8 X 9                1

UGB04064     1/4 X 2             100 ULB10384     5/8 X 12               1

UGB04064W    1/4 X 2 (WITH WASHER)    100 ULB12192     3/4 X 6                1

UGB04080     1/4 X 2 1/2         100 ULB12288     3/4 X 9                1

UGB04080W    1/4 X 2 1/2 (WITH WASHER) 100 ULB12384     3/4 X 12               1

UGB04096     1/4 X 3             100 ULB14384     7/8 X 12               1

ULB14384HE   7/8 X 12 (HK X EYE)      1

ULB14576     7/8 X 18               1

SCREW HOOK W/LAG SCREW THREAD

MIDGET TURNBUCKLES
Part number Description Pack CAST ALUMINUM
ANX135064    .135 X 2                 50

ANX156048    .156 X 1 1/2             50 Part number Description Pack

ANX192102    .192 X 3 3/8             50 UMB008       #4                   10

ANX192108    .192 X 3 3/8             50 UMB010       #5                   10

ANX244132    .244 X 4 1/8             25 UMB012       #6                   10

TURNED LAG SCREW EYE BOLTS
ZINC



Part number Description Pack

UNB04088     1/4 X 2 3/4           10

UNB04112     1/4 X 3 1/2           10

UNB04128     1/4 X 4               10

UNB05080     5/16 X 2 1/2          10

UNB05088     5/16 X 2 3/4          10

UNB05152     5/16 X 4 3/4          10

UNB06096     3/8 X 3               10

UNB06192     3/8 X 6               10

UNB08112     1/2 X 3 1/2           10


